
/sd ?
n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] ;DalGwt 

q}dfl;ssf] cGTodf

1 >f]t -!=! b]lv !=$ ;Dd_ 12,177,204,349    11,728,825,862   9,989,637,587   

1=1 r'Qmf k"FhL      783,943,000      783,943,000      501,337,000 

1=2 hu]8f tyf sf]if      435,974,388      414,593,045     437,108,154 

1=3 hLjg aLdf sf]if    10,923,890,824    10,506,215,629     9,051,192,433 

1=4 dxfljklQ hu]8f        33,396,136      24,074,188           -   

1=5 ltg{ afFsL bL3{sflng C0f tyf ;fk6L
2 pkof]u -@=! b]lv @=^ ;Dd_    12,177,204,349    11,728,825,862    9,989,637,588 

2=1 l:y/ ;DkQL -v'b_      638,207,695      629,512,803      617,247,791 

2=2 bL3{sflng nufgL tyf sh{f     2,304,366,050     2,004,596,974    3,702,688,823 

2=3 aLdfn]vsf] lwtf]df shf{       923,387,616      852,633,768     677,450,885 

2=4 v'b rfn' ;DkQL -#_ -$_     8,306,431,614     8,236,827,143    4,980,720,815 

2=5 ckn]vg jf ;dfof]hg x'g jf+sL ljljw
vr{x?

       4,811,374        5,255,174      11,529,274 

2=6 gfkmf gf]S;fg lx;fajf6 ;f/]sf] gf]S;fg
v'b rfn' ;DkQLsf laa/0f  
rfn' ;DkQLsf] ljj/0f

3 Rffn' ;DkQL shf{ tyf k]ZsLx? -#=! b]lv
#=# ;Dd_

    9,007,669,431    8,958,280,883    5,744,683,853 

3=1 gub tyf a}+s df}Hbft      181,308,228      201,918,104      193,141,963 

3=2 cNksflng nufgL     8,258,226,644     8,225,940,817    4,928,326,960 

3=3 cGo ;DkQL      568,134,560      530,421,962      623,214,930 

4 rfn' bfloTj tyf Joj:Yffx? -$=! b]lv
$=$ ;Dd_

     701,237,817      721,453,740      763,963,039 

4=1 rfn' bfloTj       183,622,818      200,112,252      100,969,031 

4=2 c;dfKt hf]lvd jfkt Joj:yf       219,135,732       213,011,681      239,835,055 

4=3 e'QmfgL x'g afFsL bfjL afkt Joj:yf       63,357,745      103,822,437     128,149,568 

4=4 cGo Aoj:yf       235,121,522      204,507,370     295,009,384 

jf;nft

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2071÷072 sf]]] bf]>f] q}dfl;s sf] ljlQo ljj/)f



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] ;DalGwt 

q}dfl;ssf] cGTodf

1 cfDbfgL -!=! b]lv !=% ;Dd_      102,688,890       50,153,393      66,084,059 

1=1 cfo Joo lx;faaf6 ;f/]sf]        70,227,103       33,692,022       38,379,606 

1=2 hLjg aLdf sf]ifaf6 ;f/]sf]            -              -             -   

1=3 nufgL shf{ tyf cGoaf6 cfo       32,461,787        16,461,371      27,704,453 

1=4 Joj:yf lkmtf{            -              -             -   

1=5 cGo cfDbfgL            -              -             -   

2 vr{ -@=! b]lv @=* ;Dd_       24,419,312       12,226,633      17,989,132 

2=1 Joj:yfkg vr{        11,210,519        5,617,189       8,660,503 

2=2 ckn]vg vr{            -              -             -   

2=3 cGo vr{x?        1,101,464        1,046,394         19,451 

2=4 gf]S;fgLsf] nflu Joj:yf            -              -             -   

2=5 sd{rf/L cfjf; Aoj:yf            -              -             -   

2=6 sd{rf/L af]g; Joj:yf        8,216,082        3,953,619       5,218,555 

2=7 cfos/        3,891,246        1,609,432       4,090,623 

2=8 hLjg aLdf sf]ifdf ;f/]sf]            -              -             -   

3 v"b gfkmf ÷-gf]S;fg_ -!–@_       78,269,578       37,926,759     48,094,927 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2071÷072 sf]]] bf]>f] q}dfl;s sf] ljlQo ljj/)f

gfkmf gf]S;fg lx;fa



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] ;DalGwt 

q}dfl;ssf] cGTodf

1 cfo -!=! b]lv !=& ;Dd_     1,974,087,826     1,203,729,947    1,720,239,471 

1=1 aLdfz'Ns -v"b_     1,271,854,830      709,811,473    1,085,158,780 

1=2 k'gaL{df sldzg cfo       34,045,304            -         30,316,712 

1=3 nufgL, shf{ tyf cGoaf6 cfo      295,721,802      142,690,665      276,792,906 

1=4 aLdfn]vsf] lwtf]df shf{af6 cfo       34,767,605        17,761,613      30,920,622 

1=5 cGo k|ToIf cfo        8,099,016        3,866,926       6,807,949 

1=6 q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL
afkt Joj:yf

      122,533,667       122,533,667      103,747,619 

1=7 q}dfl;ssf] z'?sf] c;dfKt hf]]lvd afkt
Joj:yf 

     207,065,602      207,065,602     186,494,883 

2 Joo -@=! b]lv @=!) ;Dd_      964,705,776      657,393,180     963,444,585 

2=1 bfjL e'QmfgL -v'b_      419,130,734      216,809,905      371,487,369 

2=2 clestf{ sldzg       112,456,395       51,640,381      92,039,833 

2=3 :jf:Yo k/LIf0f z'Ns        1,337,826         781,663       1,052,469 

2=4 k'gaL{df sldzg vr{            -              -             -   

2=5 ;]jf z'Ns -v'b_       12,718,548        7,098,115      10,851,588 

2=6 cGo k|ToIf vr{            -              -             -   

2=7 Joj:yfkg vr{      100,894,673       50,554,702      77,944,528 

2=8 cfos/        35,674,121       13,674,295      42,712,446 

2=9 q}dfl;ssf] cGTodf e'QmfgL x'g afFsL bfjL
afkt Joj:yf

      63,357,745      103,822,437     128,149,568 

2=10 q}dfl;ssf] cGTodf c;dfKt hf]lvd afkt
Joj:yf 

      219,135,733       213,011,682     239,206,784 

3 art -!-@_     1,009,382,050      546,336,767     756,794,886 

3=1 hLjg aLdf sf]ifdf ;f/]sf] art      939,154,948      512,644,745     718,415,280 

3=2 gfkmf gf]S;fg lx;fadf ;f/]sf] art       70,227,103       33,692,022       38,379,606 

n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf]   

cGTodf

cl3Nnf] cf=j=sf] ;DalGwt 

q}dfl;ssf] cGTodf

1 aLdfz'Ns cfh{g -s'n_     1,346,689,872      709,811,473    1,149,370,852 

2 s"n sfod /x]sf] aLdfn]vsf] ;+Vof         299,538         293,782        271,920 

3 3f]lift d"gfkmf -af]g;_ sf] b/ -
@)&).)$.)! ;Dd @)&!.)#.#@_

 61 b]vL 75  61 b]vL 75  60 b]vL 75 

4 cGtl/d d"gfkmf -af]g;_ sf] b/ -====== b]lv
===== ;Dd_

 61 b]vL 75  61 b]vL 75  60 b]vL 75 

5 s"nbfjL e'QmfgL /sd      477,534,422      244,773,413      432,023,154 

6 s"nbfjL e'QmfgL /sd ;+Vofdf           5,863           2,562          4,146 

7 e'QmfgL x'g afFsL bfjL /sd       55,093,691       90,280,380     111,434,407 

gf]^ M n]vfk/LIf)f gePsf c+sx? n]vfkl/If)f kZrft x]/ km]/ x"g ;Sg]% .

cGo ljj/)f

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2071÷072 sf]]] bf]>f] q}dfl;s sf] ljlQo ljj/)f

Plss[t cfo Aoo lx;fa 


